1084 R B+ FAFS ek 33t 4F

fﬁﬁﬁ'ﬂ@ﬁﬁ&%ﬁ%
ERPY Y EARIL08 £ 6
EBA o Erk
"HERVIREE L RS &R

103 # 12 7 25 p $+F P 4] 2 B 4D > P F D R FARE S e 3o
&wﬁﬁﬁﬁiﬁﬁmém4Afwzwaéﬁiﬁw\w@&ﬁﬁﬁggﬂ
SR EHILATE 15 BASM 0 2 B E 13 R 242 R BEEHHILAK
Biigh AR5 Ko BB Le e £ TRBM S TR B L7
APE E LT SR E F IR S S e I3 R 2L RRED
BRI LA ERS ) T RER 2 g R op 99 £ 42 A Fh Hod
Rip2 8 R R FiiT !

Z13xpch 99 &3 107 #%FA¢p2 8 B 40

ol
ER St A 37 S RFR > £ 00 F TR AL F
99 & 49 49
100 & 86 75.51 56 14. 29
101 & 86 = 69 23.21
102 & 86 - 76 10.14
103 & 104 20. 93 90 18. 42
104 & 104 - 104 15. 56
105 & 104 - 104 -
106 & 104 - 104 -
107 # 104 S 104 -




110 104 104 104 104 104
” , .

90
80
70
60

50

22

40

99.# 100+ 101+ 102+# 103# 104# 105+ 106+ 107# =&

d PRI RAT A AKAFERIREEFE RIS LA Lo
B S-FERLPED X583 (100£ 12 1p)% > %dlB3E2 558 B3R &
A9 A RCoMEGPET AL BT (100£ 10 1p)3 102 F 5 SRR
ERGFIBIEY S 86 4 > XK 7551% FEH BiEEE LA > d 56 A K4 % 76
Ao X E 3571% ; B FEFEAFEFS B A 245 8 0 (103 £ 12 7 25 0)3
Lo PR EERSVIRIEE S 104 4 > GFE A FEY 90 A K4 % 104 4 5 X E
1556% - 104 # 3 7 S| R $7 % FE 5 AR % 5 104 4 » Afpdce » RR G > &
FEFA o FEAFh 99 & 3 107 # % B3R A EE R 4Ed 49 A K 4 3 104
Loy £ 112.24% o

TR KR FS R Fh



